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d from 138.01 to get 98.57
sum of 185.6 and 203.73 greater thal




2. 0.908 Sl
6. 83.9 x 100
10. 75.5268
I, 142.3 x 43

18. 6.034 x 213




% 3.4 = 67 x 0.34
%38 =1.5x 3.8 x 100

school. How far is his school from home?

eta bought 2.3 m ribbon at the rate of 8.90 and 4
335 per dozen. What amount did she pay? |

tich the following:




Sag 0 1d

2. 0.69by 3
5. 0.161 by 7
8

2 b v Oy

i by 8 1. 4.128 by 16
by I I4. 39.818 by 43
984 by 463 I7. 3.47 by 5

05 by 2 20. 21.6 by 16




05by 100
8.9by1000

1.732
1.735
0.4976
0.0049




3. 10.832 by 0.16
6. 19.56 by 4.8
9. 1.0486 by 0.107




bucket of shells weighs 4.13 kg Another weigh:
0.295 kg. How many shells are there in bot

. when filled to 0.75 of its capacity contaln-
I 1t contain if completely filled?




| TSI
following decimals into common

(b) 035 (o) 0.208  (c
(h) 20.375 () 88.88 (j)

e following common fractions into




